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= Overcurrent Trip (DCPS)
- Auctioneered Data (idl)

F Condjtioned Data (DCPS), Limits: [

-4 -2 0 2 4
time

T

(o]

[ Full Action (DCPS),ILimit - 1100.0000, Max.=2134.5310, End Val. 2133.81521
[_Action (idl), Max = 2133.81, End Val.= 2133.81 |
[ Full Action (idl), Limit = 1100.00, Max.=2134.53
| Shot #: 3088, Param Tree: 72

| Fault Time: 1.9166703

[ Faults (L1) [AT,DT]: [0.400000, 0.389745]
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-4 -2 0 2 4
time
E_IDL, éircular, [-39.19850, 0.011911324]
DCPS, Circular, [-39.985032, 0.011932369]
IDL, Shaped [Displaced], [-39.9851, 0.0123491]
DCPS, Shaped [Displaced], [-39.985062, 0.012349058]
Shot #:. 3088, Param Tree: 72
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